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IV Semester 3 Year LL.B. /VIll Semester 5 Year B.A. LL.B./B.B.A. LL.B./
VIl Semester 5 Year B.A. LL.B. (Maj.-Min. System)
Examination, June/July 2018
PUBLIC INTERNATIONAL LAW
(Old and New Batch)

Duration : 3 Hours Max. Marks : 100

Instructions : 1. Answer Q. No. 9 and any five of remaining questions.

2. Q. No. 9 carries 20 marks and remaining questions carry
16 marks each.

3. Answer should be written either in English or Kannada
completely.

Examine the theories relating to nature and basis of International
Law.

©03000 ¢0D TOIRIT TOPRVTH TBY IVHON RBowoPas
z,@go:m&%g‘ ToSeDRD.

“Individuals are the only subjects of International law”. Evaluate
the relevancy of the statement.

“FIND SR, ©oTToo ecd PINVT  ARODTONR T’
B Bevsod BedIonRy STOEORD.

Explain the different theories relating to relationship between
International law and Municipal law.

eo@!doaai eod BIRD X oo TR LROGRE, RoLoDAT
) xmosmfso ORORO.

Give the meaning of recognition. Bring out the distinction
between Dejure and Defacto recognition.

IR OFFI, $920. R TR P SJFOD IBII
d@ﬁu SP20.

What is State Succession ? Explain rights and duties arising
out of succession of State.

oot ORI OF0300TBe ? ooy, SOCRITTOBON0E VORI
5&% EeCY) asragsmﬁdg‘ QIORD.

Explain the modes of acquisition and loss of state territory.
oo g«gwm* TETHELWT R FIELN QBRI IORD.
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Q. No. 7. Examine the practices of states in relation to formation and
termination of treaty.
WTOTT T3S B BRFRRYRRNT FowoRs oo eszﬁdz%ﬁﬁa
TOBeO2D.

Write short note on any two :

RR)Te THS WP OFO E3T08 2ITO0.

(a) Asylum.
Shofevel

(b) International Court of Justice.
eoédme&eosa T, cdR LD

(c) Custom.

Solve any two of the following problems :

WS cRPTe TS :»’da;’%m:g WED :

(a) State ‘H’ claims the island on the ground of continuous
exercise of sovereignty with willful intention. But state ‘N’

claims the island on the basis of treaty with ‘A’ to which
island was the colony. Decide.

W ouR) QTII, WEBIREE BUpoT WTESTN
SRBT WIFPORE, BRTW SRS Hoed 3qdmgd.
$08 ‘T ORI adewwaﬁoq DB SRRRRT, ‘¢’
Tt TR0 BT LBOTIR), SGOR Sgd&gd. SeF IR0,
A, B, C, D four nationals belonging to state ‘Z' causes
grevious hurt to foreign citizen ‘M’. State ‘Z’ claims

exemption on the ground that act has not been caused
by its officials. Decide the liability of state ‘Z'.

‘o oo g AT ©, W, &, B 030w oM oae&eosado ‘&'odow
QT TnoTIN é@mob SOOLDERNTIT]T. ‘&' TOBT) IZR)
33 SHTONOT IEATRYOY, @:.od eoaﬁd Slanielal daeci
&)Tao'm FegOTT. SeRFARD.

State ‘A’ enters into neutrality treaty with state ‘H’.
Subsequently state ‘R’ which replaces state ‘A’ as
successor. State ‘R’ refuses to follow the conditions of
treaty. Decide the responsibility of state ‘R’.

‘v oo W oorgrieonnt Bumd witod SRagewgs Sosd
SOTRITNT DozgEN wWor ‘T’ IR WIOTT Sd?gﬁ%i
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